


Ut A=1(2,46,8) L W, 5 T AL

@ {2,4,6) @ ¢
@ {6,8) ® {2,6,8}



%
‘__m.u
!

®
A
NnB
®
AC
N
B

)
AUB

®
(AN B)

@ (AUB)



o] HbO] AIZF; oA 3Eg Aof] EolQlE HES B 630, 28
Ao Eojgl FEL = 5ukR 51 g ool F Qe S0l
Ft2o] gFfZolr}, o] Hho] e Uyt F QYo THEOR Eoj9d:

HEe 9 9Eelx Fatele)

SEL 35



P(6,4)

YA

?

S
.

T e A ol

oln

@ 20 ® 26

D 16

® 52

@ 32




6. % A A(a1), B(3,b) ol tisto] A& ABE 3:2 & 2&6h= o]
(1, 49) €, a+bE FoHH?

@ 6 @ 4 ® 3 @ -3 ® 5



1) & ole HE ABE 3:2 2 Esk A P

3ES FotH?

® (-5,7)



FrEW 9o M A(3,-2), B(4,5), C(-1,3)2 Al HAHOZ o=
HPAHY ABCD o Y2 H34H D o] FHEE (x, y) 2t & o x+y
o] = F-shoiet

5 L
=%



(-3)2 = -3

@

® |x>0°]H x> 00|t}

lx =y ©]®H xy = 0°]tt.

@ |x+y|



10.

Z]

® ANB=A



